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Annual Examination, 2022
B.Sc. Part II (i)
CHEMISTRY
Paper II
(Organic Chemistry)
Time : 3 Hours ] [ MAXIMUM MARKS : 33
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Note : Section ‘A’ is Objective type and is compulsory. It

(iii)
should be written on the first page of Answer-
book. Section ‘B’ is Short answer type and Section
‘C’ is Long answer type.

@ug ‘3’ (Section ‘A’)
aglaeheard goT
(Multiple Choice Questions)

TEI IR 1 FFA hifl— 1x8=8
Choose the correct answer :
() Frefafea § wH-a1 e goEe § 2

(31) RCOC1 (&) CCl;.CHO

(9) RCI (T) CH4,CL.COOH

(iv)

[ 2]

Which of the following is alkyl halide ?
(a) RCOCI (b) CCl5.CHO
(c) RCl1 (d) CH,ClL.COOH.

et =l 260°C IR ATFTee 377 o 919 T
T I ST o—

(37) wifdeh o7t () WHifewh 37
(9) tferet Tehiela () UshlelH |

Glycerol on heating with oxalic acid at
260°C yields :

(a) Formic acid (b) Acetic acid

(c) Allyl alcohol (d) Acrolein.

Jfeeere STHE1 o A fhan et Wl §—
(37) el EIEEILIES

(9) Ufeeda (T) TEGESHES |

Benzaldehyde on reaction with ammonia

gives :
(a) Aniline (b) Benzamide
(c) Aldimine (d) Hydrobenzamide.

el TegehTd i HI o |1y ifufsran et ® oo
& IS BHT—

(31) Ufered (&) Teifeed=

(9) oA (%) 9|
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When glycol react with HI the main product
will be :

(@) Ethylene (b) Acetylene

[ 4]

(vii) CH;CH,COOCH; &1 3% 9.9 0. 5. 7 §—

(37) Afad TfeAe () AfYe Wifte Tl
(1) Hftet Afet TR () BfYe groAee

(c) Ethane (d) Propane. The IUPAC name of CH3CH,COOCHs is :

(v) frfafEd 3 Hn T s R TeEgEe Tl s e ? (a) Methyl Ethanoate
(21) wiepdfeh 3T (o) 2 are (b) Methyl Propyl ester
(|) sshftE (%) wifores a1 (c) Propyl Methyl ester
Which one is not expected to form anhydride (d) Methyl Propanoate.
on heating ? (viii) =1 H ¥ -1 T8 gad @R E ?
(@) Succinic acid (b) Tartaric acid (37) M (9) Afoer T
(c) Benzophenone (d) Lactic acid. (9) SEafYd THH (]) ZEAfad THH |

(vi) Fr=fafed 8 @ #H-m f{q'TT'ﬁZE'ﬁ SAafsRan 1 Which one of the following is strongest base ?
IAET ? (a) Ammonia (b) Methyl Amine
(37) a, B-m SRA (c) Dimethyl Amine (d) Trimethyl Amine.
(&) a, B'Wﬁm@ @ug 'd’ (Section ‘B’)
(W) p-eregioil Teet T I T 2x5=10
(%) p-erzgrrd Ufceserse (Short Answer Type Questions)
Which of the following is the product of ) ) o
Reformtsky’s reaction : Tre—  wd tﬁ%[ o AT €1 el e W A
(@) a, B-Unsaturated acid %l T Bl IR HFW 75-100 T 3 ]%nc@ql

Note : All the five questions are compulsory. There
(b) o, B-Unsaturated Aldehyde is an internal choice in each question. Write
(c) B-Hydroxy Ester answer of the questions maximum with
(d) B-Hydroxy Aldehyde. 75-100 words.
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1. Jeoi-Thie Afyfshan i Twemed |

Explain Wurtz fitting reaction.
HYdT / Or
quenR Afuferan 9 fewuit faferd |

Write note on Sandmeyer’s reaction.

. TR &1 Tefafed & e aEmEten sttt
ﬁf@-q_

(37) 9 Tiefeen st

(9) HIERRY T2ENES

Write chemical reactions of glycol with the

following :
(a) Concentrated Nitric acid
(b) Phosphorus Pentachloride
HAYAT / Or
fopetferfiad 1 frfer @ 38 e w4 2
(31) 2, 4, 6-ZEeH T
() e Tt ger
How will you obtain the following from phenol ?
(@) 2, 4, 6-Tribromo phenol
(b) Phenyl ethyl ether

I/37—22 P.T.O.
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. IRFATHRfeeese B UHefeegee &1 sTdal

ferrstiftrfersh 2 fisrar I B €1 gmemsd |

In trichloroacetaldehyde, nucleophilic addition
reaction takes place more rapidly than

acetaldehyde. Explain.
HYdT / Or

ERIRRIRASCES

(37) THRfceTRe SRS UEARS & 1Y foha s
€7

(&) TN, firre sifyerts & e fran s & 2

What happens when :

(a) Acetaldehyde reacts with Hydrogen Cyanide?

(b) Acetone reacts with Grignard Reagent ?

. Tr=afafe =1 gusmsa—

(37) UHIRTHIEE ol FeHTh TTd ST ohi gl H 3Tfeeh
B

(9) eI o7, Wifde 3Tt ¥ Yool STl § |

Explain the following :

(@) Boiling Point of Acetamide is more than the

corresponding acid.

(b) Oxalic acid is more acidic than formic acid.

1/37—22
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HYdT / Or
formferfian sifufmansit #1 qof -
Complete the following reactions :
(@ CH3CONH, + Bry + 4KOH —

Pd/BaSO,
Quinoline

. hifsuH 3AfYferen 9 fewon fafed |

Write note on Carbylamine reaction.

(b) CH,COCI + 2H

HYdT / Or
CHsN,C1 & fr=fafen Aifie &8 g i 2
(37) CgHg (&) CgH5N,Cl

How will you obtain the following compounds

from CgH5NoCl ?
(@) CgHg (b) CgH5NoCl
@|us ‘9’ (Section ‘C’)
g I uvT 3x5=15
(Long Answer Type Questions)

Ae— Tt Ut wyd e €1 9w geAl | stafien =

| YY1 1 I 3f¥ehdH 200-250 sl H faf@m |

I/37—22 P.T.O.
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Note : All the five questions are compulsory. There

is an internal choice in each question. Write
answer of the questions maximum with
200-250 words.

1. Ufcehal Biize & faeEg i &l E! 2R E2 1fufsan

fafy Tazmey |

Explain E! and E2 mechanism of dehydro
halogenation of primary alkyl halide.
HYdT / Or

Fearrersta A fr=fafad $8 g war ?
(31) &t gEEe

(&) fordre

() el

How will you obtain the following from chloro-

benzene ?
(@) Phenyl Cyanide
(b) Phenol

(c) Aniline

2. -3 sifufean =t forenfafy aasmsa

Explain mechanism of Reiman-Tieman Reaction.
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HIAT / Or
TeTgehicl okl To=fefed & Wiy stfuferan fofen—
(37) |5 ik S7ret
(F) HERRY YeeRiNES
(§) Hifeaq
Write the reaction of glycol with the following :
(a) Conec. Nitric acid
(b) Phosphorus Pentachloride
() Sodium
. Tr=fafe w g fewfoer fafes—
(31) g Ry 3=,

() FAHET ST |

Write short notes on following :
(a) Wolf-Kishner Reduction,

(b) Clemmensen’s Reduction.

HYdT / Or
frreifefen sfufwas # o SfE—
(37) CH3COCH4 + Hy,N — OH —

(&) CH3;CHO + HCN —
(¥) HCHO + CH;MgBr —

I/37—22 P.T.O.
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Complete the following reactions :
(a) CH3COCH3 + H2N - OH —»
(b) CH3;CHO + HCN —

(c) HCHO + CH3MgBr —

. 1 BT § Se—

(37) UHifed FAEe ol SHIFA & Y 3TYhd fohan
e ?

() UHifeh TTeRSES &l Uad Uehiid & 91Y
AfHd FLI § ?

() UHEMES ol A132Y 7 & 19 3hd Hd © 2
What happen when :
(@) Acetyl chloride is treated with Ammonia.

(b) Acetic anhydride is treated with ethyl

alcohol.
() Acetamide is treated with Nitrous acid.
HYdT / Or
FE Fe o1 foranfafy gt

Give mechanism of Claisen’s condensation.

1/37—22
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5. f=fafad & s &1 fafy, 7o wa 3w fafes—
(31) TNT
(9) fufshep 3t

Write the Preparation, Properties and uses of

the following :
(@) TNT
(b) Picric acid
HYdT / Or

ITAT, &I o 3T ATesy H ArEiasiid & 3TI=H
%l THATRY |

Explain the reduction of nitrobenzene in acidic,

alkaline and neutral medium.

VOOV COOVVY
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